STATE SECURITIES BOARD, AUSTIN, TEXAS WILLIAM M. KING, Securities Commissioner

MONTHLY REPORT OF SECURITIES REGISTRATIONS IN TEXAS February, 1963

In February, 1963, authorization was issued by the State Securities Commissioner for the sale in Texas of \$17,060,442 in securities. This total includes securities being offered by Texas Companies as well as companies with their home offices outside the State which propose to sell only part of their issue in the State.

A summary of individual permits issued in February, 1963, follows: These permits are permissive only and do not constitute a recommendation of the State Securities Board.

Permit Date		Total Offering
2-11-63	ABILENE COMMUNITY INN OF AMERICA, INC. (Tex) P. O. Box 767, Abilene, Tex., 450,000 shs com/s @ \$1.00 with funds to be escrowed in accordance with the Escrow Agreement as filed with this office -	\$ 450,000
2-25-63	ATOMICS, PHYSICS & SCIENCE FUND, INC. (Del) 1033 30th St. N. W., Washington, D.C., shs com/s @ net asset value-	41,775
2-20-63	BURNET COMMUNITY INN OF AMERICA, INC. (Tex) 106 E. Washington, Burnet, Tex., 140,000 shs com/s, 14,000 shs of which are presently outstanding and 126,000 shs to be offered to the public @ \$2.50-	350,000
2-25-63	CAMPBELL SOUP COMPANY (NJ) Camden, N.J., Participations in Campbell's Soup Employee Savings and Stock Bonus Plan @ varying prin. amt. not to exceed \$125.00 per month for each participant -	18,822
2-20-63	CAPITAL PLANNING SERVICES, INC. (Tenn) 3rd Natl. Bk. Bldg Nashville, Tenn., Single Payment Plans and Systematic Investme Plans to accumulate shs of Life Insurance Investors, Inc. @ Face Amt.	100,000
2-20-63	CAPITAL SHARES, INC. (Md) 660 Madison Ave., N. Y., N. Y., shs of Capital Life Insurance Shares and Growth Stock Fund @ net asset value -	2,073,064
2-20-63	CAPITAL SPONSORS, INC. (Del) 660 Madison Ave., N. Y., N. Y., Systematic Programs and Fully Paid Programs to accumulate shs of Capital Life Insurance shs and Growth Stock	
	Fund, Inc. @ Face Amt.	1,000,000
2-13-63	COMPUTER CONTROL COMPANY, INC. (Del) Old Connecticut Path, Framingham, Mass., 5,000 shs com/s @ \$8.00-	40,000
2-4-63	COSMOPOLITAN INVESTMENT CORPORATION, INC. (Tex) 207 W. 6th St., Amarillo, Tex., \$200,000 prin. amt. 6 1/2% Sub. Deben. due 1-15-73 @ 100% -	200,000

2-8-63	CROWN WESTERN INVESTMENTS, INC. (Del) 815 Fidelity Union Life Bldg., Dallas, Tex., shs of Series D-2 and S-3 com/s @ net asset value -	\$ 500,000
2-20-63	DELAWARE INCOME FUND, INC. (Del) 3 Penn Center Plaza, Philadelphia, Pa., shs com/s @ net asset value-	100,000
2-7-63	DIVIDEND SHARES, INC. (Md) 1 Wall St., N. Y., N. Y., shs cap/s @ net asset value-	182,770
2-4-63	DREXEL ENTERPRISES, INC. (Del) Drexel, N.C., 5,000 shs com/s @ \$23.50-	117,500
2-14-63	FLORIDA BANCGROWTH, INC. (Fla) 3356 Atlantic Blvd., Pompano Beach, Fla., 30,000 shs com/s @ \$12.625 -	378,750
2-6-63	GREATAMERICA CORPORATION (Nev) 311 So. Akard St., Dallas, Tex., 150,000 shs com/s @ \$16.00-	2,400,000
2-6-63	HAMILTON FUNDS, INC. (Del) 777 Grant St., Denver, Colo., shs com/s, Series H-C7 @ net asset value and Periodic Investment Plans Series H-DA @ Face Amt	4,398,276
2-9-63	INVESTMENT TRUST OF BOSTON (Mass) 294 Washington St., Boston, Mass., shs of Beneficial Interests @ net asset value-	309,587
2-20-63	LIFE INSURANCE INVESTORS, INC. (Md) 10 So. LaSalle St., Chicago, Ill., shs com/s @ net asset value-	100,000
2-22-63	LOOMIS-SAYLES MUTUAL FUND, INC. (Mass) 140 Federal St., Boston, Mass., shs com/s @ net asset value -	314,819
2-27-63	MASSACHUSETTS INVESTORS GROWTH STOCK FUND, INC. (Mass) 200 Berkeley St., Boston, Mass., shs com/s @ net asset value -	1,038,187
2-20-63	MUTUAL INVESTMENT COMPANY OF AMERICA (Del) 660 Madison Ave., N. Y., N. Y., shs cap/s @ net asset value -	500,000
2-15-63	NEW ENGLAND FUND (Mass) 111 Devonshire St., Boston, Mass shs of Beneficial Interests @ net asset value-	32,828
2-13-63	PACIFIC SOUTHWEST AIRLINES (Calif) 3100 Goddard Way, San Diego, Calif., 15,000 shs com/s @ \$19.00 -	285,000
2-19-63	PACKARD INSTRUMENT COMPANY, INC. (III) 3713 Grand Blvd. Brookfield, III., 2,000 shs com/s @ \$21.50 -	43,000
2-20-63	PREFERRED LIFE INSURANCE COMPANY (Ala) 235 S. Court St., Montgomery, Ala., 276 shs com/s @ \$10.00 -	2,760
2-5-63	T. ROWE PRICE GROWTH STOCK FUND, INC. (Md) 1 Charles Center, Baltimore, Md., shs cap/s @ net asset value-	1,081,858

2-26-63	THE STRATTON FUND, INC. (Md) 15 William St., N. Y., N. Y., shs com/s @ \$20.00 plus a maximum sales charge of 4% of value of Depositors Assets at date of exchange -	100,000
2-11-63	TAMAR ELECTRONICS INDUSTRIES, INC. (Del) P. O. Box Q-3, Anaheim, Calif., 2,333 shs com/s @ \$9.75 to be exchanged for stk of Kar-Trol Signal Co., Inc. only -	22,747
2-25-63	UNITED CONTINENTAL FUND (Del) 20 West 9th St., Kansas City, Mo., shs of United Continental Fund @ net asset value -	242,074
2-20-63	UNITED SERVOMATION CORP. (Del) 410 Park Ave., N. Y., N. Y., Maximum of 7,000 shs com/s of United to be exchanged for stk of Sabine Vending Co., Inc. @ \$18.50-	129,500
2-22-63	WEST TEXAS INSURANCE COMPANY (Tex) Western Republic Life Bldg., Austin, Tex., \$200,000 Conv. Premium Revenue Bonds @ Face Amt. and 66,800 shs underlying com/s @ \$3.52514 (Formerly registered at \$3.00 per share) -	218,964
2-13-63	WINFIELD GROWTH INDUSTRIES FUND, INC. (Del) 306 Union Center, Wichita Kansas, shs com/s @ net asset value -	288, 161

Securities Registrations from September 1, 1962, through February 28, 1963

Month of February 28, 1963

	Number		Prior Total	
Securities Registered by	Registrations	Amount	Accumulated	Total
	,	± = 000 000 ·		
Mutual Investment Companies		\$ 5,300,000*	\$ 34,900,000	\$ 40,200,000
Renewal Registrations				
Mutual Investment Companies	12	\$ 7,103,399	\$ 37,293,021	\$ 44,396,420
Other Corporate Securities	1	18,822	4,378,643	4,397,465
	13	\$ 7, 122, 221	\$ 41,671,664	\$ 48,793,885
Original Applications of All	On Figures .			
Other Corporate Securities				
Texas Companies	5	\$ 3,618,964	\$ 17, 195, 039	\$ 20,814,003
Other Companies	8	1,019,257	12,501,359	13,520,616
	13	\$ 4,638,221	\$ 29,696,398	\$ 34,334,619
TOTALS	32	\$17,060,442	\$106,268,062	\$123,328,504

^{*} \$500,000 of this amount is a Texas Mutual Fund.

ADMINSTRATIVE ORDERS ISSUED

Order		Date
Number	Denial Orders	Issued
RD-168	MUTUAL FUND DISTRIBUTORS CORPORATION, 400 Utah Savings Bldg., Salt Lake City, Utah, order issued denying application for registration as a general securities dealer in Texas -	2-4-63
	Cease Publication Orders	
CP-169	INSURANCE AND BANK STOCK FUND, INC. and INVESTMENT FUND MANAGEMENT CORPORATION, 3rd and Center St., Little Rock, Ark., order issued prohibiting the use of the loose leaf brochure describing the "Cash Property Accumulator Plan" and beginning "ARE YOU FORGETTING SOMETHING" also the loose leaf brochure entitled "Southern Equitable Life Insurance Company, Little Rock, Arkansas"	2-11-63
	Revocation Orders	
5. O-170	SCIENTIFIC DALLAS, INC., 1221 Manufacturing St., Dallas, Tex., order issued prohibiting secondary trading of securities of Scientific Dallas, Inc. under Section 5.0 - Texas Securities	
	Act	2-28-63